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401 Al HI L £ 0HHI 30,000 40,000 A 10,000
01 Al& B 30,000 40,000 A 10,000
OAIl EE2SHA S A A2 cl2aed 30,000
HEUQ [ EHOISCHEIZSEHUIAMY(EX) 2,267,000 2,238,000 29,000
Xl 1,587,000
= 159,000
Al 521,000
202 o4 | 9,000 0 9,000
Xl 6,000
o= 600
Al 2,400
01 2Ll 9,000 0 9,000
OXA OIS CE)| 9= (&SHeHAA) 3,000
N 2,000
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Al 800
OFZX 0} DIS)| Y22 (B0 3,000
Xl 2,000
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OZXXH 0l otsS)| 9= (Xclasd) 3,000
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403 XX SHHS K20 & 2,258,000 2,238,000 20,000
Xl 1,581,000
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Xl 700,000
Al 300,000
401 Al HI L 2 0HHI ,000,000 2,457,000 A 1,457,000
N 700,000
Al 300,000
01 Al&H| 993,700 2,448,155 N 1,454 455
OszMzaHY
1,000,000,000& *99.37% 993,700
Xl 700,000
Al 293,700
03 Al 201 Y| 6,300 8,845 N2,545
=& M e S 6,300
ENeHE - 100,000 100,000 0
207 S0 | 100,000 100,000 0
01 A 100,000 100,000 0
020178 Lt o e 4
20,000, 000& x5JH 2 OF 100,000
EEEOHEAIY =& ) 29,000 0 29,000
= 14,500
Al 14,500
307 S12t0| & 29,000 0 29,000
= 14,500
Al 14,500
02 212+ &AL 29,000 0 29,000
Os&E ssA F XA (40H0FS) 29,000
= 14,500
Al 14,500
sE0IS 52D 4,000 0 4,000
301 et A= 4,000 0 4,000
09 HAIAHIE 4,000 0 4,000
OssE0ts By 4,000
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11 J|EtE A2 5,360 0 5,360
O=s&018t A MR 5,360

_20_




2N s8I
HE: s 5& ZH L
Sl mEXS Y (29l & 2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
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AXXMOSCED BZS23 E2X(EX) 154,000 154,000
Xl 108,000
Al 46,000
307 2izto| A 56,000 56,000
Xl 39,400
Al 16,600
02 QIZFA AAIE E X 56,000 56,000
OXA Ol UHS)| 23 - 8K S9HAU3
= BMO0IS) 56,000
N 39,400
Al 16,600
401 AlEHIZL £ 0HY| 98,000 98,000
Xl 68,600
Al 29,400
01 Al&H| 97,118 97,118
OFXA OIS 2tS)| 23 - X (A4S BA0H
) 98,000,000 *99. 10% 97,118
N 68,600
Al 28,518
03 AlE 21| 882 882
OFXA OIS S| 23 - 2X(AsS 2A0H
=) 882
AXXOISCHED| SHE(FTME)(EX) 100,000 100,000
Xl 70,000
Al 30,000
307 2iz2to| A 12,000 12,000
Xl 8,400
Al 3,600
02 QIZ2IAAAIE E X 12,000 12,000
OFZX Ot2 VS)| FRME NHAHAS
22 d=0t2) 12,000
N 8,400
Al 3,600
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03 Al&E 201 Y| 1,000 1,000
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HAA SEXY A2USIAS(EX) 100,000 100,000
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Al 30,000
201 LBt 9| 10,000 10,000
Xl 7,000
Al 3,000
01 AP 22| d| 10,000 10,000
ONAASAHAREH (E2 2, DEH T H
g) 10,000
Xl 7,000
Al 3,000
202 o4l 9,000 9,000
Xl 6,300
Al 2,700
01 2Ll 9,000 9,000
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Al 181,000
HE 2 A A 85,152 81,000 4,152
ol 2l (s&8 ) 55,552 51,400 4,152
olE=2Ydl(s3 ) 55,552 51,400 4,152
101 @124 dl 55,552 51,400 4,152
03 RIAHAZZ2TE = 55,552 51,400 4,152
OYREX (T2 2Y) 55,552
CHol & =Hl 40,0003 =120 & «2H 960
== 1,166,220 x12& 2 27,990
&403 1,166,220 *400%*2H 9,330
ME==p ]| 120,000 128 »2H 2,880
g Mz AlH| 130,000& x12& «2H 3,120
ANzZte2f+¢
7,3023 *15A1 2t x 1.5 x 128 »2H 3,944
SEZOHI(4,F4)
1,166,220& *120%*2H 2,799
HOFE &Y 7,3023 x 10 *BAl 2tx2H 1,169
2s 220,000 x12& 2,640
NE2=L (222, JIEH) 720
dHl(s& 1) 29,600 29,600 0
22 (s31) 29,600 29,600 0
201 Yet2 2t 3,000 3,000 0
01 At 2t 2|l 3,000 3,000 0
O= 2l 3,000
202 odl 22,400 22,400 0
01 = LH o4 1l 22,400 22,400 0
Os™ge £z 22,400
203 YR F&H| 4,200 4,200 0
04 EANSIHRF=EHI 4,200 4,200 0
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